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Ay magnitude of the potential energy iy’
{iﬁ; .

é) by a factor of 2, the magnitude of the potential energy is (a) doubled
b
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1. When the distance between two p01

t_charges is reduced by a half, the
) d oubled (b) quadrupled (c) reduced
retor of 1/ N ‘(e) reduced by a factor of

by a factor of 1/3 (d) reduced by a
1/4.

2. When the magnitude of each of two interacting point charges is il?jﬂ sed
)

quadrupled (c) reduced by a factor of 1/3 (d) reduced by a factor of (e)

reduced by a factor of 1/4.

TN
3. Electric poiential is a vector quantity. True or False. (a) True@ Ise

< C%a 4. The direction of an electric field vecfor is from lower to higher potential.

i

me?

True or False. (a) True é ) False

ﬁ;?{ 5. When a proton moves in the direction of the electric field, the proton s

potential energy decreases . True or False. {a) }“rue (b) False

electron’s potential energy decreases . True or False./(a) True (b) False

; Mf
7 q 6. When an electron moves in a direction opposite to fC.fllectrlc field, the

7. The capacitance of a parallel platecapacitor is inversely proportional to
its plate separation d. True or Fals@ rue (b) False

8. For a given voltage difference between the plates, the electric field .- /= év
magnitude between the plates of a parallel'plate capacitor is inversely E v

proportional to the plate separation d. (a) (b) False ey
)2 ="

- 9. Which expression represents the potential energy of a capacitor with

o~ Voltage difference V and charge Q on the positively charged conductor?

(a) CV (b) Q (¢)'all of the above (d) none of the above

10. What voltage %-l-f erence will produce a current 0.25 (A) through a 4.0 ohm

resistor? :
(a) 16 (V) (b) 2.0 (V) (c) 10 (V) (d) none of the above

~11. Let V(x,y) = 3x + 4y. What is the direction of the electric field?
(a) 53 degrees with the positive x-axis in first quadran ’f?ﬁ 3 degrees with the
negative x axis in third quadrant (c) nota




